(» RDW

¥ E )} Technical data

B8 Model RDW-50  RDW-66 RDW-80  RDW-100 RDW-125 RDW-160  RDW-200  RDW-300
B M17#2 Stroke per jaw mm 6 6 8 10 13 16.5 20 30
FARAA Closing force 84 134 221 400 660 1110 1480 2180
FREY7 Opening force 94 148 245 451 730 1240 1580 2280
FARA/FRIESE Closing/opening Time s 075/075 075/075 075/075 1/1 1/1 1/1 15/15 15/15
&/NE 7 Min. pressure bar 2 2 2 2 2 2 2 2

= AEF] Max. pressure bar 8 8 8 8 8 8 8 8
&/NV/EARE Min. /max. temperature  °C 5-80 5-80 5-80 5-80 5-80 5-80 5-80 5-80
HE Weight Kg 0.14 0.28 048 0.87 145 221 355 713

5] BB 5% How to eoder

© REEBEERN

( RDW ) C 32

| | mEBEE®E |

[ mEam | [ & &
| |
25 - @25 mm
32 - @32mm
40 - F40 mm
50 - @50 mm
63 - 63 mm

e

s ks B ERAUE
Model Description Recom. number of use
MMS-30 TR A (AR IR R

Straight design (two-line non-contact)

90 3% & (7 4R 1% )

MMSs-30-SA 90 degrees design (two-line non-contact)

2

BTRE (MR W IER)

MMsS-30-PNP Straight design (two-line non-contact)

2

9O 35 &f (M 4% R 1% )

MMS-30-PNP-SA 90 degrees design (two-line non-contact)

2

BTG (MR R E)

MMS-30-NPN Straight design (two-line non-contact)

9O 3% &f (7 A% R 1% )

MMS-30-NPN-SA 90 degrees design (two-line non-contact)

2

fE A Be U R AL AL

www.rgk-fa.com



(RGK 4

M R ~<F B Dimensions
N

RDW-20

4-M4x0.7Px10 3%

4-M3x0.5Px4.5 iF

35 12
‘ S MEREL)

&V

KA
S
AN s

ool -oEe § - s
€9 BK @ K ;S@ @ T
Eﬁ = i i 2030 x3 5 7
4034 BE / 53 || 35 \ 23903538 25 =
so|B SR (MEEEA)
7 26 x7 R :
(EEH) © (A7)
BABYR 60 19
BaRd 52 8 o 7.5
Nl -
i T | ) I S - I | i T
[ < tih [ > >
2.054 B - - T
AL O6x7 iF > @390x3.57 |
EER) %$ s 5 EED e &
S = 8 P e
2 ": n::: e ‘ Bk
w5
("i M
24 30 2-M4x0.7Px10 / 11_[10.5 ‘1 g;‘ﬁ
= s |
35 2-M5 IR () 35 i)
52
\ J
1 N
RDW-25
1 195, 20 4-M5x0.8Px12 33
@=R)
& iilﬁ? & o) X ‘4 13 4-M4x0.7Px5 B
b1+ (MEEZEL)
oHlot—t-leklel ah : S 5
@ $) R BK . 6 K—J \9 Q@.\ L
S R 2 X % E SR e 105 2-®4+8 B§X4 =
S3 B8ixa; .
%/ 54 A g 54 (ET;L)% (MEERITL)
1L @8x12 iR
(BEEH)
BEERST 76 . 21
BarR<ed 10, w |85
‘ Nl -
;r”'_|_,_\ — L 1_ e B
v | . \J \J
& - @4-0% x4
2-034.3 EiE 247054 ix
L @8x8 T i o 2 (EhLA) N )
(E=H) @ @ - — D e
~ & ~ | ] e~
T - ]’ ! XS
s7m 85 |y
2 % 2us0spxi2® | | |14 13s] 1 %
2.M5 £
54 ‘ ]_.H:IIE'HJ (@fﬁg) 54
B4
J

N
www.ri k-fa.com l



4h 88 R~ Bl Dimensions

; A
RDW-32
1 24.5 25 4-M5x0.8Px12 & 5 16
== @R 4-M5x0.8Px8 i
D 9 o ® %\a@»w (MEEEA)
PNENPN PNENPS o TaySani¥a
PRI, PP & == \J 8 hdhaN
BK| 00 Nl
o O 5 e® o g O 13| \225706 R
4044 EB /S ! ' =R 2478854 52 (MEZEARLAL)
L @8x14 iR 70 < 70 (EfA)
(EEA)
BRI~ 96 26
&R~ 80 12 w106
- i
) I —  — * 1 [ - —

N U i - ) U M5x0.8Px12dp
2-@4.3%@{ ‘ @470 x4 (BEH)
#17.08x8 iF 4 ‘ g8 @& T

@) — d @ m 6 =
W
=] Py -~
o N o & ¥ =
. Bsx 3
34 2-M5 EHREAL 42 18 _|17.5_|| 1 A
.
70 | 70
80
N J
~
RDW-40
T 925 . 3 4-M6x1.0Px123%
(EER) 6 20
Cl— - % X 0 Lot tpriog
CEE m < Tl EEY
PPN NN 3 = ¥ i
P [PPT & o B0,
© | & GlR @ @\ 16 | \2-06""x6 iF
7Y g (& & & D (A EAL7L)
) N 0 Z iy B8
405288 /) & 86 5" k553
17 29 5x16 iF 86 (EfzAl)
(BER)
BEELR <120 32
F&R~ 100 14 w12 8
o) o
A S S e | — — 3 ﬁ_ 1 — e |
O U Qﬁj O 0
2352 ER - f o 25" Vs 52
TEFLD9.5x9 F D Bl @ (EAA)
@zA) o) R 1 v e N d——
o
: ER I
A
e ] 2-PT 1/8" SEHHEAL 50 M6x1.0Px12dp| 25 | 24.5 | 1
86 (EE) a6
100
J

N
l www.ri k-fa.com



M R ~<F B Dimensions

RDW-50
1 47.5 48
8 24
T F7 £l g 4-M6x1.0Px10 38
75} o & /\ fe] olfed Esl
¢l o] oot 3 3 20 [\ 2067000 2
® | ® oo\ | /e =
R\ e A QN
D55 O Fi 00 1 4 O
4p68EE ol ™~ 105 2688 x6 7
FEAL O 5x17T B 105 )
(EER) 4-M8x1.25Px16 &
EEH)
BEUR 151 , 40
FI& R 125 J 16 o 168
[+#]
""" I —| f_\_l'—"": { [ ) I
v J| /E & T
2.0688E = — " o538 6
HAD11x12 7 D N e i
@=R) ) ; e IEN h@ i 0
b fan) R 3 BRI~
A 82‘3@
: H
48 60 2-M8x1.25Px16 3% 30 | 205 | 1 A
105 N 2pT 1 mEL (B 105
125 |
e N
RDW-63
929
1 9.5 T £ 4-M8x1.25Px13 3%
i o 7y & & . d lols] (AEE
e ol @ I ||«L|w‘
e Ll o | [ ] ! 23.5 2-06'0% x6 3%
ST ¥ |®+$‘ 3 o E 3 (M EARLL)
& & 3= K/ \
e A S 7 <
E? IS & '@} g ﬁ @ @ & 3 @ K B
4-06.8 Eill Bl 26" 65
FEAL 011 5x22%F 140 140 (EfA)
(EEF) 4-M8x1.25Px 16
(E=)
‘ BEEGF ST 192 e
E& <160 20 g 18 11
1““ ! '
= U il U U
zososm T g oStz
FHAGUETFE T,V = ERA) [T —n
(BEA) N2 L7 PV 3 — -
3 fost e = Bl
S ag’g
. 55 72 2-M8x1.25Px167% / 35 | 345 |1 A
1o 2-PT 1/8" EHE AL (BEH) 110
160 ‘
N J

www.ri k-fa.com l



4h 88 R~ Bl Dimensions

4 N
RDW-80
132
Y
1 505 &0 — 4-M10x1.5Px10 %
& B [l @ey mA
N © O\ I | L27 | \ 2-06%% 632
O QP R & (A=)
BE| ~
O O B
— /A # @ @f\
ﬁy £ £t N %;:E {} A i = \ 28333?)(3:7!:

4-010.588 ‘ i
1L @18x27 5% 142 142 \l
(R 4-M12x1.75Px20 ;¥

(E=R)

BARL/R <1208 ‘
54
aRHe8
Hary J 25 o |22 10
— T 1 } | i W —
O T | T O
S S 0 0 - ) [ ] ot gz
HrgT @ gy =0
(EER) @B @% =0 4=
Jre) s 8 K
) Fon B o=
AN 5 %
] - E )
55 20 2-M12x1.75P%20 3% | 40 | 395 |1 ©
130 2-PT 114" EHERIL (BER) 130
168
4 A
RDW-100
1 73.5 74 125 35
- - : 4-M12x1.75PX 168
D& O S N 6t JIETTA  eEEd)
O O e Bz e
[ty [l e ] [ty ]alenll o } o B as
YTV [V T = g&‘_ : © 30 2-06°00 xG
o) 0 N o \ (A=)
fd i\
4-g12588 gi - "' - g G_@ - ” @ &
T 590.36T S 21088 x10;
W 180 180 G
4-M14x2Px%20
(EER)
. BB <1260 , @
Eﬁ'IA:TRT_"ZOD J 30 ] 25 10
30 I e
L """  — —| — L ——1 77 1 l —
vB /1 10 v,
L | o
2-012.58E = 0| g 210 TXA0 R |
FAO20023E [y, P qe @ e . |
(EER) [\e2/) {} - 1 b (¥ — |
2 & N 8 5
=
A © 13
74 110 2-M14x2.an2053§/ 45 445 |1
160 2-PT 14" EHEIL (EEA) 160
210
N J

l www.ri k-fa.com



